
Effect of calcium phosphate on growth, pigment and secondary compound accumulation in *Cannabis sativa* L. callus

Tebdoie, C.¹, Thippaaut, T.¹, Deewatthanawong, R.², Kongchinda, P.³, Singhavorachai, P.², Tontiworachai, B.², Chanapan, S.², Boonchom, B.⁴ and Montri, N.^{1, 5*}

¹Department of Plant Production Technology, School of Agricultural Technology, King Mongkut's Institute of Technology Ladkrabang, Bangkok, Thailand; ²Expert Center of Innovative Agriculture, Thailand Institute of Scientific and Technological Research, Pathum Thani, Thailand; ³Expert Center of Innovative Herbal Products, Thailand Institute of Scientific and Technological Research, Pathum Thani, Thailand; ⁴Department of Chemistry, Faculty of Science, King Mongkut's Institute of Technology Ladkrabang, Bangkok, Thailand; ⁵Office of Administrative Interdisciplinary Program on Agricultural Technology, School of Agricultural Technology, King Mongkut's Institute of Technology Ladkrabang, Bangkok, Thailand.

Tebdoie, C., Thippaaut, T., Deewatthanawong, R., Kongchinda, P., Singhavorachai, P., Tontiworachai, B., Chanapan, S., Boonchom, B. and Montri, N. (2026). Effect of calcium phosphate on growth, pigment and secondary compound accumulation in *Cannabis sativa* L. callus. International Journal of Agricultural Technology 22(3):1479-1492.

Abstract The application of calcium phosphate in the form of tricalcium phosphate ($\text{Ca}_3(\text{PO}_4)_2$) on cannabis (*Cannabis sativa* L.) callus cultures for 7 days significantly increased fresh and dry weights at concentrations ranging from 800 to 2000 mg/L, with no statistical differences between concentrations. However, higher calcium phosphate concentrations led to reductions in pigments and DPPH radical scavenging activity. By contrast, callus cultures treated with 800 and 1600 mg/L showed enhanced total phenolic content and carotenoids, while total flavonoid content increased proportionally. These findings suggested that calcium phosphate concentration influenced the biosynthesis of secondary metabolites in cannabis callus cultures.

Keywords: Cannabis, Callus, Calcium phosphate, Secondary metabolite

Introduction

Cannabis (*Cannabis sativa* L.) is a medicinally valuable plant. The main bioactive compounds are the cannabinoids, Δ^9 -tetrahydrocannabinol (THC) and cannabidiol (CBD), which have analgesic, anti-inflammatory, neuroprotective, and anticonvulsant properties (Devinsky *et al.*, 2017). Cannabis also synthesizes various secondary metabolites, including phenolics, flavonoids, carotenoids, and chlorophylls, which contribute synergistically to its therapeutic

* **Corresponding Author:** Montri, N.; **Email:** nattaya.mo@kmitl.ac.th

effects; a phenomenon referred to as the "Entourage effect" (Sommano *et al.*, 2020).

The secondary metabolites biosynthesis in plants is frequently induced by various environmental conditions, which activate intricate intracellular signaling networks mediated by phytohormones, proteins, and plant nutrients (Reshi *et al.*, 2023). Plant tissue culture offers a controlled and reproducible environment that enables precise manipulation of growth factors and elicitors, resulting in plant growth, optimizes yield, and secondary metabolites production improvement when compared to plant growing in the field condition (Smetanska, 2008). Elicitation strategies have been applied in different species of medicinal plants such as adding with auxins in *Panax ginseng* C.A. Mey adventitious roots increased ginsenoside accumulation (Amin *et al.*, 2013). Calcium modulation has also been shown to influence embryogenesis and metabolic outcomes in *Daucus carota* L. cultures (Xu *et al.*, 2023). In potato, *Solanum tuberosum* L., callus cultures treated with CaCl_2 resulted in enhanced growth (Calabuig-Serna *et al.*, 2023). The cytokinin-type regulator thidiazuron (TDZ) in cannabis has been reported to enhance cannabinoid-related traits in callus culture systems (Trajkovska *et al.*, 2023). *In vivo*, preharvest foliar salicylic acid (SA) increased total phenolics, total flavonoids, and total chlorophyll in *C. sativa* L. (Tebdoie *et al.*, 2024).

The application of abiotic elicitors such as calcium and phosphorus compounds enhances secondary metabolite accumulation in several plants. For example, calcium salts increased lycopene and the total phenolic content in tomato (Mazumder *et al.*, 2021) and enhanced total flavonoids and capsaicin accumulation in chili pepper (Montri *et al.*, 2024). Treatment with calcium phosphate nanoparticles (CaP-NPs) at 50 mg/L stimulated antioxidant enzyme activities in rice and increased metabolite levels, while a notable increase in total glutathione was observed at 20 mg/L. Calcium ions (Ca^{2+}) serve as crucial secondary messengers in these pathways, modulating the gene expression and biosynthesis of stress-related compounds via the activation of calcium-dependent protein kinases (CDPKs) (Dell'Aglio *et al.*, 2019; Park and Ronald, 2012). Phosphate (PO_4) plays a central role in plant growth and metabolism by supporting ATP-dependent energy transfer and regulating gene expression through phosphate/ATP signaling pathways (Wagner, 2024). Application of 50 mg/L of CaP-NPs in callus cultures of carob (*Ceratonia siliqua* L.) increased some secondary compounds such as flavonoids, tannins, terpenoids (Elsherif *et al.*, 2025), but Ca/P-based elicitation strategies remain underexplored in cannabis.

This research examined the effect of various calcium phosphate concentrations on biomass, pigments, and some secondary compounds in *C. sativa* L. callus cultures. Our findings contribute to the development of reproducible, eco-friendly methodologies for maximizing bioactive yields, with potential applications in pharmaceutical and biotechnological industries. This method can also be applied to growing cannabis in outside environments.

Materials and methods

Callus induction

Young shoots of *Cannabis sativa* L. ‘Hang Kra Rog Phu Phan’ were used as the primary explants. The explants were sterilized with 10% sodium hypochlorite added with 2 drops of Tween-20 as a surfactant for 20 min. After surface disinfection, the explants were thoroughly rinsed with sterile distilled water and then cultured on Murashige and Skoog (MS) basal medium (Murashige and Skoog, 1962) supplemented with 0.5 mg/L thidiazuron (TDZ) to promote friable callus culture induction. The cultures were incubated in the culture room under control conditions at $25 \pm 2^{\circ}\text{C}$ and a 16/8 h (light/dark) photoperiod, with light intensity ranging from 3000 to 3500 lux. After three weeks, the induced callus tissues were excised and standardized into uniform 2.00 g fragments for subsequent treatments.

Treatments and experimental design

This completely randomized design (CRD) experiment comprised five replicates per treatment, with each replicate consisting of four independent culture vessels. The 2.00 g fresh weight of callus were cultured on MS medium supplemented with 0, 800, 1200, 1600, and 2000 mg/L calcium phosphate. Calcium phosphate is used in the form of tricalcium phosphate ($\text{Ca}_3(\text{PO}_4)_2$). The cultures were incubated in the culture room.

Growth parameters

After culturing on for 7 days, the callus cultures were weighed to determine the fresh weight. A fresh callus (one replicate per treatment) was dried in a hot air oven at 40°C for 3 days. After drying, the samples were weighed, and the dry weight percentage was calculated using the equation:

$$\text{Dry weight percentage} = (\text{Dry weight} / \text{Fresh weight}) \times 100$$

Analysis of pigments and secondary compounds

Callus extraction

The dried callus samples were finely ground using a grinding machine, and then 0.30 g of the callus powder was extracted with 10 mL of 95% ethanol at 40°C for 30 min using an ultrasonicator (Elmasonic P 120H). This procedure was repeated three times. The ethanolic extracts were then filtered through Whatman No. 1 filter paper and analyzed for secondary metabolite content using a microplate reader (SpectraMax i3x; Molecular Devices, San Jose, CA, USA).

Analysis of pigments

The chlorophyll and carotenoid contents were measured following a modified protocol adapted from Thambavani and Sabitha (2011). Spectrophotometric measurements of the ethanolic extract were conducted at wavelengths of 664, 649, and 470 nm using a microplate reader. Chlorophyll a, chlorophyll b, total chlorophyll, carotenoids, and total pigment were calculated using standard equations based on the absorbance values at the specified wavelengths.

Chlorophyll a (Chl a) = $13.36A_{664} - 5.19A_{649}$

Chlorophyll b (Chl b) = $27.43A_{649} - 8.12A_{664}$

Total chlorophyll = chlorophyll a + chlorophyll b

Carotenoid = $[1,000A_{470} - 2.13(\text{Chl a}) - 97.63(\text{Chl b})]/209$

Total pigment = Total chlorophyll + carotenoid

Analysis of total phenolic content

The total phenolic content was quantified using an adapted Folin–Ciocalteu colorimetric method, following Velioglu *et al.* (1998). In this procedure, 67 µL of the ethanolic extract was mixed with 500 µL of Folin–Ciocalteu reagent and left at room temperature for 5 min. Then, 500 µL of 6% (w/v) sodium carbonate (Na₂CO₃) solution was added to the mixture and incubated in the dark condition for 90 min, with absorbance measurements recorded at 765 nm using a microplate reader. The results were expressed as mg of gallic acid equivalent (mg GAE) per g of dry sample weight.

Analysis of total flavonoid content

The total flavonoid content was measured using a modified aluminum chloride colorimetric assay following the protocol outlined by Li *et al.* (2013). In brief, 25 µL of the ethanolic extract was diluted with 475 µL of distilled water and left at room temperature for 3 min. Then, 250 µL of a 2% (w/v) aluminum chloride (AlCl₃) solution was added, followed by an additional 250 µL of

distilled water to complete the reaction volume. The mixture was incubated under dark condition at room temperature for 30 min. Absorbance measurements were performed at a wavelength of 415 nm using a microplate reader. Quercetin was used as the calibration standard, with results expressed as mg of quercetin equivalent (mg QE) per g of dry weight.

Analysis of antioxidant activity by the DPPH assay

The ability of the sample to scavenge free radicals was determined using a modified 2,2-diphenyl-1-picrylhydrazyl (DPPH) assay, based on the methodology described by Sadeer *et al.* (2020). In brief, 150 μ L of the sample extract was mixed with 650 μ L of 0.01% (w/v) DPPH solution. Following thorough homogenization, the mixture was incubated in the dark at room temperature for 30 min to complete the reaction. The absorbance was then measured at 517 nm using a microplate reader. Ascorbic acid was used as a standard reference compound, with results expressed as the percentage of DPPH radical inhibition relative to the control.

Statistical analysis

This study employed a CRD. Data were subjected to analysis of variance (ANOVA), with post hoc comparisons among treatment means conducted using Tukey's Honestly Significant Difference (HSD) test at 99% confidence level ($p \leq 0.01$) and 95% confidence level ($p \leq 0.05$). All the analyses were performed using Statistix 8 software.

Results

Fresh and dry weight

Different concentrations of calcium phosphate application significantly influenced the fresh and dry weights of *C. sativa* L. callus, with the highest fresh weight of 4.362 g observed at 1600 mg/L treatment. However, no significant differences were found among the treatments of 800, 1200, and 2000 mg/L. The lowest fresh weight of 3.462 g was recorded in the control group (0 mg/L) or non-treated callus.

Callus treated with 800 mg/L calcium phosphate resulted in dry weight and percentage of dry weight of 0.094 g and 4.715%. These values were not significantly different from the treatment with 1200 mg/L. By contrast, the

lowest dry weight of 0.080 g and dry weight percentage of 3.989% were found in the control group (Table 1).

Table 1. The effects of various calcium phosphate concentrations on fresh weight, dry weight, and dry weight percentage in *Cannabis sativa* L. callus after 7 days of culture

Calcium phosphate (mg/L)	Fresh weight (g)	Dry weight (g)	Dry weight percentage (%)
0	3.462b	0.080b	3.989c
800	4.153a	0.094a	4.715a
1200	4.083a	0.092ab	4.59ab
1600	4.362a	0.085ab	4.227bc
2000	4.037a	0.087ab	4.011c
F-test	**	**	**
C.V. (%)	6.59	3.68	3.14

Note: Values followed by the same letter within a column do not differ significantly at $p \leq 0.01$.

Chlorophyll a, chlorophyll b, total chlorophyll, carotenoids and total pigments

The application of varying calcium phosphate concentrations on photosynthetic chlorophyll a, chlorophyll b, total chlorophyll, total pigments, and carotenoid content in cannabis callus under aseptic conditions over a 7-day preharvest period revealed highly significant statistical differences. Non-treated calcium phosphate callus showed the highest concentrations of chlorophyll a (1.119 mg/g DW), chlorophyll b (0.463 mg/g DW), total chlorophyll (1.582 mg/g DW) (Table 2), and total pigment (1.639 mg/g DW) (Table 3). A pronounced and statistically significant decline in chlorophyll a, chlorophyll b, total chlorophyll, total pigments, and carotenoid content was observed with increasing calcium phosphate concentrations. Cannabis callus supplemented with 1600 mg/L treatment had the lowest levels of chlorophyll a, chlorophyll b, total chlorophyll, and total pigment content. However, these values did not differ significantly from the 1200 mg/L or 2000 mg/L treatments.

The cannabis callus culture treated with 800 mg/L calcium phosphate showed elevated carotenoid levels (0.184 mg/g DW), but this increase was not statistically different from callus cultures supplemented with 1200 mg/L and 1600 mg/L. The lowest carotenoid content at 0.058 mg/g DW was found in the control group (Table 3).

Table 2. The effects of various calcium phosphate concentrations on chlorophyll a, chlorophyll b, and total chlorophyll content in *Cannabis sativa* L. callus after 7 days of culture

Calcium phosphate (mg/L)	Chlorophyll a (mg/g DW)	Chlorophyll b (mg/g DW)	Total chlorophyll (mg/g DW)
0	1.119a	0.463a	1.582a
800	0.773b	0.412b	1.185b
1200	0.635bc	0.391bc	1.026bc
1600	0.528c	0.323c	0.850c
2000	0.680bc	0.364d	1.044bc
F-test	**	**	**
C.V. (%)	6.69	2.82	5.36

Note: Values followed by the same letter within a column do not differ significantly at $p \leq 0.01$.

Table 3. The effects of various calcium phosphate concentrations on carotenoids and total pigment content in *Cannabis sativa* L. callus after 7 days of culture

Calcium phosphate (mg/L)	Carotenoids (mg/g DW)	Total pigment (mg/g DW)
0	0.058c	1.639a
800	0.184a	1.369b
1200	0.160ab	1.186bc
1600	0.132c	0.982c
2000	0.154b	1.197bc
F-test	**	**
C.V. (%)	8.00	5.65

Note: Values followed by the same letter within a column do not differ significantly at $p \leq 0.01$.

Total phenolic content

The total phenolic contents in all the calcium phosphate-treated groups (800-2000 mg/L) significantly improved compared to the control group. The lowest total phenolic content of 12.272 mg GAE/g DW was recorded in the non-treated callus cultures, with the highest at 14.100 mg GAE/g DW observed in callus cultures treated with 800 mg/L of calcium phosphate. However, this value was not significantly different from the 1200, 1600, and 2000 mg/L treatments (Table 4).

Total flavonoid content

A statistically significant difference among calcium phosphate concentrations was observed for the total flavonoid content in *C. sativa* L. callus cultures. The flavonoid content increased with rising calcium phosphate concentrations, reaching a maximum of 12.046 mg QE/g DW at 2000 mg/L, which was significantly higher than the control. However, no significant

differences were observed among the 800, 1200, and 1600 mg/L treatments compared to either the 2000 mg/L treatment or the control (Table 4).

Antioxidants

The DPPH radical scavenging activities of the cannabis callus cultures were significantly influenced by the calcium phosphate concentrations. A decreasing trend in DPPH activity was observed with increasing calcium phosphate levels. The highest percentage of DPPH inhibition (41.179%) was obtained from callus cultured in calcium phosphate-free medium. By contrast, the 800 to 2000 mg/L calcium phosphate treatments did not differ significantly, with values ranging between 23.774 and 25.024% (Table 4).

Table 4. The effects of various calcium phosphate concentrations on total phenolics, total flavonoids, and DPPH scavenging capacity in *Cannabis sativa* L. callus after 7 days of culture

Calcium phosphate (mg/L)	Total phenolic content (mg GAE/g DW)	Total flavonoid content (mg QE/g DW)	DPPH scavenging (%)
0	12.272b	11.138b	41.179a
800	14.100a	11.822ab	25.024b
1200	14.045a	11.869ab	24.843bc
1600	13.859a	11.932ab	24.151bc
2000	13.594a	12.046a	23.774c
F-test	**	*	**
C.V. (%)	2.21	2.55	1.12

Note: Values followed by the same letter within a column do not differ significantly at $p \leq 0.01$ (**) and $p \leq 0.05$ (*).

Discussion

Fresh and dry weight

The accumulation of fresh and dry weights of *Cannabis sativa* L. callus cultured on MS medium supplemented with varying concentrations of calcium phosphate showed statistically significant differences after 7 days of culture. Among the tested concentrations, 800 mg/L calcium phosphate resulted in the highest dry weight accumulation at 0.094 g, while 1600 mg/L yielded the optimal fresh weight at 4.362 g. However, no statistically significant differences were observed in fresh weight between the 400 to 2000 mg/L treatment groups.

Phosphorus plays an essential role in plant development as a structural component of adenosine triphosphate (ATP), which functions as the main energy currency in cellular metabolism. ATP plays an important role in photosynthesis,

sugar production, and storing carbohydrates. These processes help plants to accumulate dry matter, which is important for their growth (Raghothama, 1999; Schachtman *et al.*, 1998). The energy from phosphorus promotes cell elongation and division, thereby expanding tissue capacity for biomass storage and resulting in fresh weight increasing (Poirier and Bucher, 2002). Calcium also improves plant growth by strengthening cell walls and acting as a secondary messenger that mediates auxin and cytokinin hormone signaling, which are essential for plant cell growth and division (Hepler, 2005; Dodd *et al.*, 2010). When applied at the optimal amount, calcium phosphate supports the structure of plant cells and the hormonal balance. Baroutkoob *et al.* (2024) found that adding 0.23 g of calcium phosphate in tomato plants (*Solanum lycopersicum* L.) significantly increased fresh and dry root weights.

Chlorophyll a, chlorophyll b, total chlorophyll, total pigments and DPPH radical scavenging activity

Our results showed that supplementation of MS medium with varying concentrations of calcium phosphate significantly affected the levels of chlorophyll a, chlorophyll b, total chlorophyll, total pigments, and DPPH radical scavenging activity in cannabis callus cultures. Callus cultured on MS medium without calcium phosphate supplementation exhibited the highest concentrations of all pigment components and antioxidant activity. By contrast, increasing calcium phosphate concentrations led to a significant reduction in pigment contents and % DPPH activity.

The observed reduction in callus viability was linked to the elevated intracellular levels of calcium (Ca^{2+}) and phosphate (PO_4^{3-}), which may trigger oxidative stress within the callus cells, thereby promoting excessive generation of reactive oxygen species (ROS), and leading to significant cellular damage, particularly affecting the lipid membrane integrity (Apel and Hirt, 2004). ROS-mediated degradation may target essential pigments, such as chlorophyll, thereby impairing photosynthetic efficiency (Gill and Tuteja, 2010).

The observed increase in malondialdehyde (MDA) content in calcium phosphate-treated callus further supports this hypothesis, as MDA is a well-established marker of lipid peroxidation and a direct indicator of ROS-mediated oxidative damage (Jaleel *et al.*, 2007). These findings concurred with Tanaka and Tsuji (1980), who suggested that elevated levels of calcium and phosphorus may interfere with the activity of key enzymes involved in pigment biosynthesis, such as chlorophyll synthase, and adversely affect pigment accumulation (Tanaka and Tanaka, 2007).

Carotenoids

Our results indicated that the calcium phosphate concentration significantly affected carotenoid accumulation in *C. sativa* L. callus cultures, with the highest levels observed at 800 mg/L calcium phosphate. Interestingly, this group was not significantly different from the 1200 mg/L treatment, indicating a possible stress response triggered by nutrient imbalance to generate excessive intracellular calcium accumulation.

High calcium concentration may interfere with the uptake of other cationic nutrients like magnesium (Mg^{2+}), iron ($\text{Fe}^{2+}/\text{Fe}^{3+}$), and ammonium (NH_4^+), since these ions are competitively transported through the cell membrane (Marschner, 2012). These elements also play a vital role in chlorophyll biosynthesis, especially magnesium, which constitutes the central atom of the chlorophyll molecule. Diminished Mg and Fe availability leads to decreased chlorophyll biosynthesis efficiency and photosynthesis, thereby stimulating carotenoid production as a protective mechanism against ROS accumulation (Demmig-Adams and Adams, 2002).

Phosphate (PO_4^{3-}), may facilitate calcium influx into plant cells (Raghothama, 1999), leading to ionic imbalance and cellular stress. Phosphates are also stimuli for carotenoid synthesis as major antioxidants during nutrient and oxidative stress (Nisar *et al.*, 2015). This phenomenon may be related to increased carotenoid production at moderate calcium phosphate concentrations.

Total phenolic and total flavonoid contents

Our results indicated that different concentrations of calcium phosphate significantly affected the total flavonoid and total phenolic contents in cannabis callus cultures. A calcium phosphate concentration of 2000 mg/L resulted in the highest accumulation of total flavonoids, while 800 mg/L significantly increased total phenolics. No significant differences were observed among treatments within the 800-2000 mg/L range, indicating that calcium phosphate at these concentrations effectively promoted the biosynthesis of secondary metabolites, particularly phenolics and flavonoids.

The observed increase resulted from calcium-triggered signaling cascades that induced the expression of pivotal biosynthetic genes such as PAL (Phenylalanine Ammonia-Lyase) (Calabrese *et al.*, 2004) and CHS (Chalcone Synthase) (Dudareva *et al.*, 2004), involved in phenolic and flavonoid production, respectively (Hamada *et al.*, 2012). Exogenous calcium has also been shown to stimulate the accumulation of stress-related phytohormones, including jasmonic acid (JA), salicylic acid (SA), and abscisic acid (ABA), which then further stimulate secondary metabolite synthesis (Reddy *et al.*, 2011).

In parallel, phosphorus delivered as phosphate plays a complementary role by promoting intracellular phosphorylation reactions that activate stress-response proteins and upregulate secondary metabolite biosynthesis pathways (Park *et al.*, 2012). The synergistic effect of calcium and phosphate enhances the metabolic activity, leading to increased production of phenolic compounds and flavonoids, as previously observed by Vallejo *et al.* (2003).

Adding calcium phosphate to the culture media for 7 days had a significant impact on fresh and dry cannabis callus weights, which increased from the 800 to 2000 mg/L treatments. However, adding calcium phosphate had an opposite effect on the contents of chlorophyll a, chlorophyll b, total chlorophyll, total pigment, and DPPH radical scavenging activity, which all significantly declined with increasing levels.

After 7 days, the callus cultures treated with 800 and 1600 mg/L calcium phosphate showed improved total phenolic and carotenoid contents, paralleling the increase in total flavonoid content. The results showed that the application of 800 mg/L calcium phosphate significantly increased both the fresh and dry weight of *C. sativa* L. callus cultures, inducing the optimal accumulation of total phenolics and carotenoids. Conversely, the maximum production of total flavonoids was found at 2000 mg/L, while calcium phosphate treatments did not influence chlorophyll a, chlorophyll b, total chlorophyll, total pigments, and DPPH radical scavenging activity. These findings indicated the potential of calcium phosphate as an elicitor to enhance the biomass and certain secondary metabolites in *C. sativa* L., and for further applications under greenhouse or field conditions.

Acknowledgements

We gratefully acknowledge Thailand Institute of Scientific and Technological Research (TISTR) for providing plant materials, the laboratory and analytical equipment for this research study.

Conflict of interest

The authors declare no conflict of interest.

References

- Amin, N., Sanga, G., Ara, N., Shah, S. and Farhatullah, D. (2013). Effect of various concentrations of calcium chloride on callus growth and potassium nutrition of calli cultures of potato (*Solanum tuberosum* L.). *Pakistan Journal of Botany*, 45:209-214.

- Apel, K. and Hirt, H. (2004). Reactive oxygen species: metabolism, oxidative stress, and signal transduction. *Annual Review of Plant Biology*, 55:373-399.
- Baroutkoob, A., Haghighi, M. and Hajabbasi, M. (2024). Amending clayey and sandy soils with nano-bio phosphorous for regulating tomato growth, biochemical, and physiological characteristics. *Scientific Reports*, 14:24975.
- Calabrese, J. C., Jordan, D. B., Boodhoo, A., Sariaslani, S. and Vannelli, T. (2004). Crystal structure of phenylalanine ammonia lyase: multiple helix dipoles implicated in catalysis. *Biochemistry*, 43:11403-16.
- Calabuig-Serna, A., Mir, R., Arjona, P. and Seguí-Simarro, J. M. (2023). Calcium dynamics and modulation in carrot somatic embryogenesis. *Frontiers in Plant Science*. 14:1150198.
- Dell’Aglia, E., Giustini, C., Kraut, A., Coute, Y., Costa, A., Decros, G., Gibon, Y., Mazars, C., Matringe, M., Finazzi, G. and Curien, G. (2019). Identification of the Calmodulin-dependent NAD⁺ Kinase Sustaining the elicitor-induced oxidative burst in Plants. *Plant Physiology*, 181:1449-1458.
- Demmig-Adams, B. and Adams, W. W. (2002). Antioxidants in photosynthesis and human nutrition. *Science*, 298:2149-2153.
- Devinsky, O., Cross, J. H., Laux, L., Marsh, E., Miller, I. Nabbout, R., Scheffer, I. E., Thiele, E. A. and Wright, S. (2017). Trial of cannabidiol for drug-resistant seizures in the dravet syndrome. *The New England Journal of Medicine*, 376:2011-20.
- Dodd, A. N., Kudla, J. and Sanders, D. (2010). The language of calcium signaling. *Annual Review of Plant Biology*, 61:593-620.
- Dudareva, N., Pichersky, E. and Gershenzon, J. (2004). Biochemistry of plant volatiles. *Plant Physiology*, 135:1893-1902.
- Elsherif, D. E., Safhi, F. A., El-Esawy, M. A., Mohammed, A. T., Alaziz, O. A., Subudhi, P. K. and Shaban, A. S. (2025). Biofortified Calcium Phosphate Nanoparticles Elicit Secondary Metabolite Production in Carob Callus via Biosynthetic Pathway Activation. *Plants*, 14:2093.
- Gill, S. S. and Tuteja, N. (2010). Reactive oxygen species and antioxidant machinery in abiotic stress tolerance in crop plants. *Plant Physiology and Biochemistry*, 48:909-930.
- Hamada, H., Kurusu, T., Okuma, E., Nokajima, H., Kiyoduka, M., Koyano, T., Sugiyama, Y., Okada, K., Koga, J., Saji, H., Miyao, A., Hirochika, H., Yamane, H., Murata, Y. and Kuchitsu, K. (2012). Regulation of a proteinaceous elicitor-induced Ca²⁺ influx and production of phytoalexins by a putative voltage-gated cation channel, OsTPC1, in cultured rice cells. *Journal of Biological Chemistry*, 287:9931-9939.

- Hepler, P. K. (2005). Calcium: A central regulator of plant growth and development. *The Plant Cell*, 17:2142-2155.
- Jaleel, C. A., Gopi, R., Manivannan, P. and Panneerselvam, R. (2007). Responses of antioxidant defense system of *Catharanthus roseus* (L.) G. Don. to paclobutrazol treatment under salinity. *Acta Physiologiae Plantarum*, 29:205-209.
- Li, G., Yu, S., Zhou, Y.H. and Chen, Q.F. (2013). Spectrophotometric Determination of Flavonoids Content in Leaves of *Fagopyrum cymosum* Complex. *Asian J. Chem*, 25: 7575-7578.
- Marschner, H. (2012). Marschner's mineral nutrition of higher Plants. 3rd ed. Academic Press.
- Mazumder, M. N. N., Misran, A., Ding, P., Wahab, P. E. M. and Mohamad, A. (2021). Preharvest foliar spray of calcium chloride on growth, yield, quality, and shelf life extension of different lowland tomato varieties in Malaysia. *Horticulturae*, 7:466.
- Montri, N., Sengseng, S., Deewatthanawong, R. and Bunya-atichart, K. (2024). Application of calcium chloride on yield and quality of *Capsicum annuum* L. *Acta Horticulturae*, 1404: 1463-1470.
- Murashige, T. and Skoog, F. (1962) A Revised Medium for Rapid Growth and Bio Assays with Tobacco Tissue Cultures. *Physiologia Plantarum*, 15:473-497.
- Nisar, N., Li, L., Lu, S., Khin, N. C. and Pogson, B. J. (2015). Carotenoid metabolism in plants. *Molecular Plant*, 8:68-82.
- Park, C. J. and Ronald, P. C. (2012). Cleavage and nuclear localization of the rice XA21 immune receptor. *Nature Communications*, 3:920.
- Park, C. J. Caddell, D. F. and Ronald, P. C. (2012). Protein phosphorylation in plant immunity: Insights into the regulation of pattern recognition receptor-mediated signaling. *Frontiers in Plant Science*, 3:177.
- Poirier, Y. and Bucher, M. (2002). Phosphate transport and homeostasis in Arabidopsis. *The Arabidopsis Book*, 1:e0024.
- Raghothama, K. G. (1999). Phosphate acquisition. *Annual Review of Plant Physiology and Plant Molecular Biology*, 50:665-693.
- Reddy, A. S. N., Ali, G. S., Helena, C. and Irene, S. (2011). Coping with stresses: Roles of calcium- and calcium/calmodulin-regulated gene expression. *Plant Cell*, 23:2010-2032.
- Reshi, Z. A., Ahmad, W., Lukatkin, A. S. and Javed, S. B. (2023). From nature to lab: a review of secondary metabolite biosynthetic pathways, environmental influences and *in vitro* approaches. *Metabolites*, 13:895.

- Sadeer, N. B., Montesano, D., Albrizio, S., Zengin, G. and Mahomoodally, M. F. (2020). The versatility of antioxidant assays in food science and safety chemistry, applications, strengths and limitations. *Antioxidants*, 9:709.
- Schachtman, D. P., Reid, R. J. and Ayling, S. M. (1998). Phosphorus uptake by plants: From soil to cell. *Plant Physiology*, 116:447-453.
- Smetanska, I. (2008). Production of secondary metabolites using plant cell cultures. *Advances in Biochemical Engineering/Biotechnology*, 111:187-228.
- Sommano, S., Chittasupho, C., Ruksiriwanich, W. and Jantrawut, P. (2020). The cannabis terpenes. *Molecules*, 25:5792.
- Tanaka, A. and Tsuji, H. (1980). Effects of calcium on chlorophyll synthesis and stability in the early phase of greening in cucumber cotyledons. *Plant Physiol.* 65:1211-55.
- Tanaka, R. and Tanaka, A. (2007). Tetrapyrrole biosynthesis in higher plants. *Annual Review of Plant Biology*, 58:321-346.
- Tebdoie, C., Deewatthanawong, R., Kongchinda, P. and Montri, N. (2024). Influence of exogenous salicylic acid on phytochemical improvement and antioxidant activity in *Cannabis sativa* L. *International Journal of Agricultural Science and Technology*, 20:365-380.
- Thambavani, S. and Sabitha, M. A. (2011). The spectral determination of chlorophylls a, b and total carotenoids using various solvents for tree species growing near sugar mill. *Asian Journal of Experimental Chemistry*, 7:5-9.
- Trajkovska, A., Tusevski, O., Stoilkovska Gjorgievska, V., Karanfilova, I., Karapandzova, M., Stefkov, G., Kulevanova, S. and Gadzovska-Simic, S. (2023). Production of cannabinoid and phenolic compounds in callus cultures of cannabis (*Cannabis sativa* L.) cultivated on medium with various cytokinins. *ChemBiotIC*. 55 pp.
- Vallejo, F., Tomás-Barberán, F. A. and García-Viguera, C. (2003). Phenolic compound contents in edible parts of broccoli inflorescences after domestic cooking. *Journal of the Science of Food and Agriculture*, 83:1511-1516.
- Velioglu, Y. S., Mazza, G., Gao, L. and Oomah, B. D. (1998). Antioxidant activity and total phenolics in selected fruits, vegetables, and grain products. *Journal of Agricultural and Food Chemistry*, 46:4113-4117.
- Wagner, C. A. (2024) The basics of phosphate metabolism, *Nephrology Dialysis Transplantation*, 39:190-201.
- Xu, F., Valappil, A. K., Mathiyalagan, R., Tran, T. N. A., Ramadhania, Z. M., Awais, M. and Yang, D. C. (2023). *In vitro* cultivation and ginsenosides accumulation in *Panax ginseng*: A Review. *Plants*, 12:3165.

(Received: 14 July 2025, Revised: 19 March 2026, Accepted: 6 May 2026)